Subject: Re: histogram function question
Posted by Heinz Stege on Fri, 06 Mar 2015 16:43:55 GMT

View Forum Message <> Reply to Message

On Fri, 6 Mar 2015 08:08:09 -0800 (PST), Jeff B wrote:

> whereas in h2 there is no *internal* adjustment to MAX.
>
In other words: The first bin contains all values
{X; 0.0 <=x<0.5}
The second bin:
{X; 0.5 <=x<1.0}
The third bin:
{X; 1.0 <= x < 1.5 AND x <= MAX)}

| may be wrong in my quick judgement, calling this a bug. However |
think, that it is an "inartfully behaviour".

Cheers, Heinz
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